10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

KRR

AN R R

1 KEH
pythonif & H iy skn LA [ R Hk

import csv

import os

path = ’data’ + os.sep + ’SuShu_datal.txt’

f = open(path, ’w’, encoding=’utf-8’, newline=’")

n = 10%x%7
suml = 0
prime = []

Is = []

csv_writer = csv.writer(f)

for i in range(n + 1):
prime . append (True)

for i in range(2, n + 1):

if prime[i]:

csv_writer . writerow ([i])
suml += 1
j=1+1i
while j <= n:
prime[j] = False

j 4=




a1 | f.close ()
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print ("&it: {}".format (suml))
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CH++ARALT

#include <iostream>
#include <vector>
#include <cmath>
#include <algorithm>
#include <fstream>

using namespace std;

typedef long long 11;

11 powmod(1l a, 11 b, 1l m) {

11 res = 1;

while (b) {
if (b& 1) res = res * a % m;
a =a * a %m;
b >>= 1;

}

return res;

vector<ll> factorize (11 n) {
vector<ll> res;
for (11 i =2; i % i<=n; i++) {
while (n % i = 0) {
res.push_back(i);

n /= i

}

if (n > 1) res.push_back(n);

return res;
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bool check_primitive_root (1l g, 1l p, const vector<ll>& factors) {

11 phi =p — 1;
for (auto f : factors) {
if (powmod(g, phi / f, p) = 1) {

return false;

}

return true;

vector<ll> get_primitive_roots (1l p) {
vector<ll> factors = factorize(p — 1);
vector<ll> roots;
for (int g = 2; g < p; g++) {
if (check_primitive_root(g, p, factors)) {
roots.push_back(g);

}

return roots;

int main() {
11 p;
cin >> p;
vector<ll> roots = get_primitive_roots(p);
if (roots.empty()) {
cout << "J" << endl;
} else {
ofstream out("roots.txt");
for (auto r : roots) {
out << r << endl;

}

cout << "{RFF " << roots.size () << "MEME] roots.txt X
i << endl;

}

return 0;
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bool is_prime (1l n) {
if (n <= 1) return false;
for (11 i = 2; i % i <=n; i++) {
if (n% i = 0) return false;

}

return true;

bool is_primitive_root (11 g, 1l p) {
vector<ll> factors = factorize(p — 1);

return check_primitive_root(g, p, factors);

void test (11 p) {
if (lis_prime(p)) {
cout << p << " ARFH" << endl;
return;
¥
vector<ll> roots = get_primitive_roots(p);
if (roots.empty()) {
cout << p << " WHEM" << endl;
} else {
for (auto r : roots) {
if (lis_primitive_root(r, p)) {
cout << 1 << " AEFEMR" << endl;

}

cout << p << " A " << roots.size () << " PEMR" <<

endl ;




